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Sl. No.1
QBID:1555041

Choose the correct form of verb to fill in the blank :

Risks come from not what you are doing ?

(1) have known
(2) known

(3) knowing

(4) know

RS I sr-w ool oem TR E 2
(1) T

(2) ¥

3)

(4) H

1[Option ID=31201]
2[Option ID=31202]

3[Option ID=31203]
4[Option ID=31204]

Sl. No.2
QBID:1555042

Choose the appropriate preposition to complete the sentence :

Her request for a transfer was turned
(1) up

(2) for

(3) down

(4) through

EIERANC A LR T A
Y ] : TG HE S U 5B & ol el HIg 7 fiaR & oed A |
FYTI I : 910 & Ue dF YR W BT F - T F YN W, Te F 27YR W TuT 3 F YR 0T |

TUE BYA & A H, A9 f&u T fawed § @ wed 9uged TR B 984 S
(1) T RIS w8 &

(2) ®YF 1 R I &4 oa ©

(3) U] WL WS P[] A &

(4) FYA 1 7Tea &, AT BUA 11 961 8

1[Option ID=31245]
2[Option ID=31246]
3[Option ID=31247]
4[Option ID=31248]

Sl. No.3
QBID:1555043

Pick out the correctly spelt word.
(1) mmpromptu

(2) mprounptn

(3) mpromputue

(4) mproptune

SeqE P A0 SAET |

(1) wes




(2)
(3) W&

(4) gsd®

1[Option ID=31273]
2[Option ID=31274]
3[Option ID=31275]
4[Option ID=31276]

Sl. No.4
QBID:1555044

Identify the correct indirect speech of the following sentence.

He said to me, "I don't believe you"

(1) He said that he doesn't believe me

(2) He told me that he didn't believe me.
(3) He told me that he didn't believed me.
(4) He told me that he didn't believe him |
T s o ms o ST R IS T |
1) =EeE

(2) e

(3) e

(4) =i

1[Option ID=31277]

2[Option ID=31278]

3[Option ID=31279]
4[Option ID=31280]

Sl. No.5
QBID:1555045

Rearrange the following parts of a sentence labelled PQRS to make a meaningful sentence.
P. overflow of powerful

Q. recollected in spontaneous

R. Poetry is a spontancous

S. feelings - emotions
(1) QSRP

(2) RPSQ

(3) QSPR

(4) SQRP

O B G T AR 2
1) faEam

(2) ==

(3) @

4

1[Option ID=31281]
2[Option ID=31282]

3[Option ID=31283]
4[Option ID=31284]

Sl. No.6
QBID:1555046

Pick out the antonym of "strength’

(1) meeckness

(2) revenge

(3) frailty

(a) energy

<l offel & I A T OE e S R 2
(1) =eaE




(2) Tag
(3) ¥4

(4) =dy

1[Option ID=31285]
2[Option ID=31286]
3[Option ID=31287]
4[Option ID=31288]

Sl. No.7
QBID:1555047

Choose the correct sentence.
(1) He had not left. we would have been forced to eviet him

(2) Hadn't he left we would have been forced to eviet hum.
(3) Had he not left. we would have been forced to evict him

(4) He not had left, we would have been forced to eviet him.
Jrferdl W FEET Gee w1 wE Rl FH W R 2

(1) g S

(2) =EM ST

(3) Fm H &40

(4) =Yw A1

1[Option ID=31289]
2[Option ID=31290]
3[Option ID=31291]
4[Option ID=31292]

Sl. No.8
QBID:1555048

Choose the correct passive voice form of the following sentence.

He may have caten the cake.

(1) The cake might have been eaten by them.
(2) The cake may have been eaten by him.
(3) He had eaten the cake.

(4) The cake might have been eaten by him.
Fofafea § ¥ 2s 919g &1 909 Sivg |

(1) == 9 Hiy |7 A |

(2) = W HY 7 HA |

(3) == | &l By B |

(4) == | By Tl B |

1[Option ID=31293]
2[Option ID=31294]
3[Option ID=31295]
4[Option ID=31296]

Sl. No.9
QBID:1555049

Pick out the synonym of the following word - "captivating'.
(1) disappointing

(2) frightening

(3) fascinating

(4) frank

FafafEd § 3 aom s T8 8 |

(1) ==

(2) ¥5F

(3) &

(4) f=R

1[Option ID=31297]
2[Option ID=31298]
3[Option ID=31299]
4[Option ID=31300]




Sl. No.10
QBID:15550410

Identify the part of speech of the underlined word in the following sentence.

Let us even the ground.

(1) Verb

(2) Adverb

(3) Noun

(4) Adjective

TEMET S s o sy 98 T8l & |

(1) & & ot ot &1 v el & SR e R
(2) fasmuif & oiier w0 § R, 799 IR RS EA T |
(3) fagiull & qon ar 9e fey o ¥ |

(4) FEATE®S BEE & g1 U § - 99 R 9IRS |

1[Option ID=31205]
2[Option ID=31206]
3[Option ID=31207]
4[Option ID=31208]

Sl. No.11
QBID:15550411

Who has been appointed as the new chief economic advisor (CEA) to the Government of India ?
(1) V Anantha Nageswaran

(2) Arun Kumar Singh

(3) Viay Sharma

(4) Kartik Sen Gupta

570 I B YRd IRPR & AU G357 A TeehR (Hi50) & 4 § e gu s
1) 1 3T AFERA

(2) %0 FHERRE

(3) fawg =i

(4) I =

1[Option ID=31209]
2[Option ID=31210]
3[Option ID=31211]
4[Option ID=31212]

Sl. No.12
QBID:15550412

Which of the following companies are among the recently created 7 new Defence Public Sector Undertaking Companies. which were
created through restructuring of OFB (Ordiance Factory Board) ?

A. Weapons India Limited
B. Munitions Indian Limited
C. Yantra India Limited

D. Gliders India Limited

Choose the correct answer from the options given below :
(1) A, BandD only

(2) Cand D only

3) A, CandD only

(4) B, Cand D only




FrafafEn =@ Fufai S o & & 7 7 aduis a0 Suss Sl wita 21 2 O wmgy fein 58 31 ol 56 5 3w 3 =nftg G
u?

A. 3U $fem fafies

B. &y afw givsar fifics

C. 73 sfea fafies

D. wgsd givsa fifses

i oy 7Ty fowedl # ¥ Ue9 S9gEd STR $1 TG BT
(1) FWMA. BIRD

(2) HI@C IRD

(3) FMA. CIRD

(4) FTB, C IIRD

1[Option ID=31213]
2[Option ID=31214]
3[Option ID=31215]
4[Option ID=31216]

Sl. No.13
QBID:15550413

Name of the autobiography of Kamala Das is :
(1) My Story

(2) Listen I Tell You

(3) Wings of Fire

(4) Autobiography of an Unknown Indian
FHA G F AFY F1TH &

(1) = =l

(2) fRF s eag

(3) T i wrR

(4) AEEEEE HE dEE e

1[Option ID=31217]

2[Option ID=31218]

3[Option ID=31219]
4[Option ID=31220]

Sl. No.14
QBID:15550414
A small organ at the base of the brain that produces substances that affect growth and sexual development (hormones) is called :

(1) Pituitary Gland
(2) Hypothalamus
(3) Pmeal gland

(4) Adrenals
AiETE F MR F T U Y oF 59 TR & ueid B Swd S & o AN gfE SR AT et @A) B wHifda $Xar 2, 98 T S 8

A, TEged 9
B. souidoay
C. difsua ofi
D. ugHa

A fan T fawed! ¥ 9e9 IUgE S &1 994 S0
(1) FITTA, BIRD

(2) FTAAHRC

(3) FTATA, BIRD

(4) FTT A SRD

1[Option ID=31221]
2[Option ID=31222]
3[Option ID=31223]
4[Option ID=31224]

Sl. No.15




QBID:15550415
Who among the following is the first woman to receive two Nobel Prizes ?

(1) Marie Curie

(2) Andrea Ghez

(3) Donna Strickland

(4) Maria Goeppert Mayer

i & @ & T90 TR W S aTe JuH Afew s § 2
(1) # =

(2) uivgan g

(3) s = &5

(4) wifeE o FoR

1[Option ID=31225]
2[Option ID=31226]
3[Option ID=31227]
4[Option ID=31228]

Sl. No.16
QBID:15550416

In a certain code language

"uo ja ka " means 'we great Indian country’,
"oi ka la ju" means 'we score good highest'.

"la fu ja ju" means "India score the highest”

and "ju uo na fu" means "highest of the country”.

Then what is the code of "great” in this code language ?
(1) uo

(2) ka

(3) ja

(4) hu

% a8y ey o

"uo ja ka hu" &1 3% & 'we great Indian country’,
"oi ka la ju" &1 2 & ‘we score good highest'.

"la fu ja ju" &1 3R § "India score the highest"

3R "ju uo na fu" ®1 o & "highest of the country”.

@ 59 Fe W H "great” B FE FNE ?
(1) uo

(2) ka

(3) ja

(4) hm

1[Option ID=31229]

2[Option ID=31230]

3[Option ID=31231]
4[Option ID=31232]

Sl. No.17
QBID:15550417




If "A@B" means A is the mother of B
"A#B" means A is the father of B

"A  B" means A is the son of B

How is X related to Z from the given equation ?

X F B, F Z
(1) Xis the grandson of Z.
(2) Z is the grandson of X.

(3) Z is the father of X.
(4) Z is the mother of X

ofe "A@B" 12 s A, BFI AT R
"A#B BT 2 fH A BEI AR

"Az B siE A BHEE,
iRt MR R X T Z T T=UE?

Xz Yz Z
(1) X, ZH U |
(2) Z.XFTUME |
3) Z.XFf@mg
(4) Z X# @z |

1[Option ID=31233]
2[Option ID=31234]
3[Option ID=31235]
4[Option ID=31236]

Sl. No.18
QBID:15550418

Global Hunger Index is released by which of the following organizations ?
(1) World Health organisation

(2) Concern Worldwide & Wealthungerhilfe

(3) Food and Agriculture organisation

(4) World Food Programme

FrafafEa # & @rea gr 3fye yEed JEeis ot i o & 2

(1) foy wreg ¥1ed

(2) F TCSAGS TS TWER A5H

(3) T T Fi e

(4) oy g =riwA

1[Option ID=31237]
2[Option ID=31238]
3[Option ID=31239]
4[Option ID=31240]

Sl. No.19
QBID:15550419




Seven dance students- T. U, V, W, X, Y and Z - are to give a performance, and the judges have to decide the sequence in which they
will perform. Each student will perform exactly one item. a solo ballet. In deciding the order of performance, the instructor must observe
the following restrictions :

1. X cannot perform first or second.

2. W cannot perform until X has performed.

3. Neither T nor Y can perform seventh.

4. Either Y or Z must perform immediately after W.

5. V must perform either immediately after or immediately before U.

If U performs third, what is the latest position in which Y can perform ?
(1) Fifth

(2) Sixth

(3) Seventh

(4) Fourth

T @FIasHE-T. U VW. X YR Z-F @ JOTgaci s iR s s m st T e s i & i mse s
Bl UH WA S B - UF USd a0 & ©U § | WEfa &1 %A uiia s w9 Fées &1 g vftesi &1 oo s sfer § -

. X UEd o1 g H W Ui A8l § |l |

. X & wgfd &7 ¥ usd W wfd el & W |
AT ARAE Y T0d F0 W T ¢ TH @ |

. W & Gea "5 Y O1 Z B W= & s |

.U % %0 950 T1 g% 918 B V &1 Wefa g1 91ey |

Y - gfg U el 78 T UG &1 & Y Sfiuas &9 v ¢ 9ear e 7
1) of=d

(2) Bad

(3) IFd

(4) =

1[Option ID=31241]

2[Option ID=31242]

3[Option ID=31243]
4[Option ID=31244]

L s o b =

Sl. No.20
QBID:15550420

A country has seven major cities - A, B, C. D. E. F and G. Three flights labeled X, Y and Z are available to connect the citics following
the rules :

Flight X has its ends at A and C, and passes through B only.
Flight Y has its ends at B and C, and passes through D only.
Flight Z has its ends at E and G, and passes through F only.
Directly connected cities are those cities between which there is no other city to land any flight.

Which of the following city is directly connected to the most other cities ?
(1) A
2) C
3) B
4) D




W@?WWW?-A.B. C.D.E.F iR G fofrfts s o s gt i sl smm Aosa s imda s ssH XL Y. Z
RUGE R

FEM X, A 3R C & Wisdl & R Hod B 9 g6t Jud! & |

TSHY SRR BARCWE IR 95 Faq D & §1< ol 2 |

FSHZ F A E IR G W E IR 98 $aa F § §IH2 ol 7 |

I TR B A ST A MR A o X5 & oS d9 F IeH 1 Sa F i s iR wsw A R

fmfafan # 3 219 @ we ofee ook v @ S R e 2 -
1) A
2 C
3) B
(4) D

1[Option ID=31249]
2[Option ID=31250]
3[Option ID=31251]
4[Option ID=31252]

Sl. No.21
QBID:15550421

In how many different ways can the letters of the word AUCTION be arranged in such a way that the vowels always come together ?
(1) 676

(2) 476

(3) 578

(4) 576

AUCTION ¢ & auil =1 fradl ver § wotd e o g=a &, fred i v 9¢a ue oy e 2
(1) 676

(2) 476

(3) 578

(4) 576

1[Option ID=31253]

2[Option ID=31254]

3[Option ID=31255]
4[Option ID=31256]

Sl. No.22
QBID:15550422

The surface area of a cube is 1734 5.q. cm. Then volume of cube is...
(1) 289 em?

(2) 4913 cm?

(3) 4931 cm?

(4) 4319 cm?

% 99 %1 Q81 850 1734 & 99, & @ 99 &1 maad e e 2

(1) 289 em?

(2) 4913 cm?

(3) 4931 cm?

(4) 4319 cm?

1[Option ID=31257]
2[Option ID=31258]
3[Option ID=31259]
4[Option ID=31260]

Sl. No.23

QBID:15550423

If v+ 1 .then _x72+3.f'2
y 3 x' =y’

1) -2
4




(2) 4

3)

@
afg

b B b

S
W | =
Al
|
el
[}

(1) - E

4
(2) -
(3)

(4)

U b

1[Option ID=31261]
2[Option ID=31262]
3[Option ID=31263]
4[Option ID=31264]

Sl. No.24
QBID:15550424

How much time will it take for an amount of F 4.5% to yield ¥ 81 of interest at 4.5 % per annum of simple mterest 7
(1) 4 years

(2) 5 years

(3) 3 years

(4) 6 years

Z 450 FT LRI F T 4.5% Wy TURU 9 $1 R I AW F w9 H T 81 WG F F o wwa @ R 2

1) g4af

(2) saf

(3) 3

@ gad

1[Option ID=31265]
2[Option ID=31266]
3[Option ID=31267]
4[Option ID=31268]

Sl. No.25
QBID:15550425

The average of 7 consecutive numbers is 20. Then sum of smallest and greatest number is
(1) 23

(2) 17

(3) 40

(4) 30

7 HHITE GEE B Hed 20 § 8 9949 218 ud 999 5o 9w w1 4 fea e 2
(1) 23

(2) 17

(3) 40

(4) 30

1[Option ID=31269]

2[Option ID=31270]

3[Option ID=31271]
4[Option ID=31272]

Sl. No.26
QBID:1001514841

What is the full form of R. C. C in connection to cement sculpture?

(1) Reinforced cement concrete
(2) Raw cement concrete




(3) Reinforced colored concrete
(4) Raw cement color

R.C.C. &1 g0l &9 &1 &7
(1) fgwd dife sifee
(2) 3 &z wifre

(3) fg=re 7as =ifee
(4) 3 iz s

1[Option ID=29701]
2[Option ID=29702]
3[Option ID=29703]
4[Option ID=29704]

Sl. No.27
QBID:1001514842

China clay is also called as
(1) Kailin

(2) Kaolin

(3) Terracotta clay

(4) Slip
Rumisaifd oo o | i i & fed smrwan 2 -
(1) SrEfeH

(2) refiRE

(3) @I Fris

(4) w9 gt (=
1[Option ID=29745]
2[Option ID=29746]

3[Option ID=29747]
4[Option ID=29748]

Sl. No.28
QBID:1001514843
b

What is "Cire perdue"’
(1) Lost wax process of metal casting

(2) Bronze welding process

(3) Wood carving process

(4) Patination process

ey U35 (Cire perdue) 1 % ?

() o1 ST B (G o (W) Hicha
(@ qdicSTuicar

(3) BTY I 10 Wi

(4) GREI T (9E2H) Pl Hishal

1[Option ID=29789]
2[Option ID=29790]
3[Option ID=29791]
4[Option ID=29792]

Sl. No.29
QBID:1001514844

Which mineral primarily exist in the Plaster of Paris?
(1) Gypsum

(2) Abelsonite

(3) Larnite

(4) Gaylussite

WRER 1% ARG & e B 1 G SgHE e € ?
1) fomH

(2) gETEATEe

(3) TRARE




(4) TITEIRE

1[Option ID=29833]
2[Option ID=29834]
3[Option ID=29835]
4[Option ID=29836]

Sl. No.30
QBID:1001514845

Pitcher is a tool generally used to curve
(1) Stone

(2) Wax

(3) Wood

(4) Glass

9 (FeR) 0% SUs & o 9Wga: FE #1 I1s 9a S & S 0 G -
(1) oram

(2) M

(3) =®IE

(4) ==

1[Option ID=29877]

2[Option ID=29878]

3[Option ID=29879]
4[Option ID=29880]

Sl. No.31
QBID:1001514846

What is called "runner” in sculpture

(1) Mould Cleansing process

(2) Comnected channels used in Glass fiber casting
(3) Comnected channels that convey the molten metal
(4) Technique of wood surface polishing

Rl & w0 f5d w0 22

(1) Fiwn 9% &4 F Aol

(2) =9 $ gard § ygaa S9 aiRen

(3) Towelt eng ®1 uftEes Sant 9y aifzsrd

(4) FTY g8 | THFH F| dhA1@

1[Option ID=29921]
2[Option ID=29922]
3[Option ID=29923]
4[Option ID=29924]

Sl. No.32
QBID:1001514847

What ig "Shellac"?
(1) Resmmous product used for coating

(2) Patination process
(3) Stone dust
(4) Plaster of Par 1s dust

rees-weT (@) 5l sed € 2
(1) TEuYs & o ugad ve Sdie
(2) AR= o & W

(3) W - ot

(4) TR 3F 9fg &1 g0

1[Option ID=29965]
2[Option ID=29966]
3[Option ID=29967]
4[Option ID=29968]

Sl. No.33
QBID:1001514848

"Slip” is the mixture of
1)




Clay with water
(2) Pop with resin
(3) Wax with metal dust
(4) Clay with Wood dust
T O e g g 2
(1) Hi R v
(2) o 3R @
(3) W 3R gt
(4) Hfe ok F18 o0

1[Option ID=29993]
2[Option ID=29994]
3[Option ID=29995]
4[Option ID=29996]

Sl. No.34
QBID:1001514849

"Calipers" is a tool used for
(1) measurement

(2) wood hammering

(3) chipping out stone

(4) wax melting

oo e Sy s w2 2
(1) HMHA

(2) FE 97qIeT

(3) u=m BEA

(4) oW Ugam

1[Option ID=29997]

2[Option ID=29998]

3[Option ID=29999]
4[Option ID=30000]

Sl. No.35
QBID:10015148410

Which one from the following is Sedimentary rock?
(1) Basalt

(2) Dacite

(3) Granite

(4) Limestone

feffed § & a9 smardt da 2 2
(1) s

(2) E9EC

(3) ¥rEe

(4) HATHeR

1[Option ID=29705]

2[Option ID=29706]

3[Option ID=29707]
4[Option ID=29708]

Sl. No.36
QBID:10015148411

Arkansas Stone is a stone used to
(1) polish leather

(2) polish Wood

(3) sharpen curving tools

(4) polish glass

AT TR 1 W HEl erdl 7
(1) =HgI THEH |

(2) ol FHEH




(3) TS WEH Hed 9d SYHUN B oe B H
(4) s A A

1[Option ID=29709]
2[Option ID=29710]
3[Option ID=29711]
4[Option ID=29712]

Sl. No.37
QBID:10015148412

What is "Ball Mill"?

(1) Stone carving technique

(2) Grinding device used to mill resin

(3) Cutting machine used to mill wood

(4) Grinding device used to mill clay and glazes
T Suul @ o T E 2

(1) TR IFE dos

(2) IT-UN0 & FIUR BT WS arell Ged 1 39
(3) = Guw ¥ forg wged wers AeA

(4) B9 IR Fie Tun F R vged e 93
1[Option ID=29713]

2[Option ID=29714]

3[Option ID=29715]
4[Option ID=29716]

Sl. No.38
QBID:10015148413

What is Bas Relief?
(1) Relief sculpture with no apparent undercuts

(2) Sculpture that is full of undercuts

(3) Relief sculpture with high or maximum projection
(4) High relief sculpture

St o @l @ &

(1) Sepiftfa e e +15 wp srada T 8

(2) fom it & ssds Wgw s

(3) T 1 Hfead wauw ar Sepiftfa afifea

(4) 3= I v ghffareg

1[Option ID=29717]
2[Option ID=29718]
3[Option ID=29719]
4[Option ID=29720]

Sl. No.39
QBID:10015148414

"Bisque firing" refers to the practice of

(1) firing the bronze

(2) firing the wood to give black texture

(3) prefiring the ceramic ware without glaze

(4) firing the copper before patination

"fareep SarerT T 1l I Haifoe & 2

(1) HiY A

(2) =4 auf & & oL STy sare

) fo1 9u@ ari RRM® gd-i &1 9ol sare=

(@) BT TH T Ugd did &1 sara-

1[Option ID=29721]
2[Option ID=29722]
3[Option ID=29723]
4[Option ID=29724]




Sl. No.40
QBID:10015148415

Repoussé is a process connected to
(1) metal art

(2) stone carving

(3) clay modelling

(4) terracotta technique

e () frad defa werar g 2
(1) H1g &

(2) TR - IeBiA

(3) AR wi=gu

(4) J&E dEs

1[Option ID=29725]
2[Option ID=29726]
3[Option ID=29727]
4[Option ID=29728]

Sl. No.41
QBID:10015148416

Chisels are used primarily for
(1) clay modelling

(2) ceramic modelling

(3) stone carving

(4) wood polishing

3 g frus RmmEm et 2 2
(1) RIS Uie=yu @ Arsfem
(2) & uiaean

(3) wER I

(4) =TT W T H

1[Option ID=29729]
2[Option ID=29730]
3[Option ID=29731]
4[Option ID=29732]

Sl. No.42
QBID:10015148417

What is "Burl" in plastic art?

(1) Hemispherical outgrowths on a tree
(2) Vertical pot

(3) Techniques of local bronze casting
(4) Stone carving process
wies Sl H S (SUgoE) TR 2
(1) e gy W TemER AEEfEar

(2) FElR IA

(3) =ife dfe 1 2o @ gt

(4) w=R IepiviE wiman

1[Option ID=29733]
2[Option ID=29734]
3[Option ID=29735]
4[Option ID=29736]

Sl. No.43
QBID:10015148418

Bush hammer is used for
(1) Stone carving

(2) Wax modelling
(3) Smooth wood finishing
(4) Electrical work




U AT/ gUS =1 wa g ¥ fw e e § -
(1) U=R I

(2) HM Ul @Sk

(3) =18 = f ufesm

(4) fooml &1 &M

1[Option ID=29737]
2[Option ID=29738]
3[Option ID=29739]
4[Option ID=29740]
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Brass is an alloy consisting of

(1) Iron and zinc

(2) Copper and bronze

(3) Copper and zine

(4) Aluminium and copper

Siaw Pt § o o Y ag § -
(1) T SR fiw

(2) dfsn SR S

(3) e ok fow

(4) Hegfafygs o ot

1[Option ID=29741]
2[Option ID=29742]
3[Option ID=29743]
4[Option ID=29744]

Sl. No.45
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Which stone has been used extensively to make Parthenon and its sculptures?
(1) Carrara marble

(2) Pentelic marble

(3) Rutland marble

(4) Portland marble

AT o Sue! uiamet ¥ e e ver =1 ooe Suge gan g
(1) w1 SRR

(2) Wi SHER

(3) Feds TR

(4) drEds TR

1[Option ID=29749]

2[Option ID=29750]

3[Option ID=29751]
4[Option ID=29752]

Sl. No.46
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What is Crucible?

(1) Riser for flow of molten metal

(2) Channel for flow of molten metal
(3) Contamer to hold glass fiber liquid

(4) Contamer to hold molten metal to pour

R / 7 E 2

(1) Tl «41g % waTg & oy S=n / UEe

(2) el urg & vare & form o

(3) &g W 5d &I WU & fog 9=

(4) Tl Ui & S-gau § ugd 39 SHE-aRT 9

1[Option ID=29753]
2[Option ID=29754]




3[Option ID=29755]
4[Option ID=29756]
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Sedimentary rock is a type of
(1) Artificial rock

(2) Organic rock

(3) Machine made rock

(4) Factory-made rock

FEardl B e ven S S g 7

(1) FEm T

(2) SfEs g9

(3) mfi= ffifa 2
(4) =ra@m g 9w
1[Option ID=29757]
2[Option ID=29758]

3[Option ID=29759]
4[Option ID=29760]
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Anodizing 1s a process of
(1) Plating metal

(2) Curving metal

(3) Melting metal

(4) Casting metal
wHidiE #1 ufea fred wEEa 2 0
(1) yig &I fagga o=

(2) o] &1 THE

(3) u1g =i fmemn

(4) I &1 ¥ / g1
1[Option ID=29761]
2[Option ID=29762]

3[Option ID=29763]
4[Option ID=29764]
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Bubbling is a defect associated with
(1) Wood polishing

(2) Ceramic

(3) Stone carving

(4) Metal wielding

gEgaIee / gOgYA 59 9 & g gm 2
(1) TS I B

(2) fRfE= /=3 g

(3) &R IS0

(4) =g T

1[Option ID=29765]

2[Option ID=29766]

3[Option ID=29767]
4[Option ID=29768]
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Choose the correct sequence from the options below :
(1) waxing, filling core, remove piece moulds, fixing runner, investment mould

(2) remove picce moulds, fixing runner, mvestment mould, Waxing, filling core




(3) waxing, filling core, mvestment mould, fixing runner

(4) fixing runner, investment mould. Waxing, filling core

g fou Teed! § § 981 9 &1 9949 S |

(1) AFETE, SR A, §5-9d gaH], TR @URHEN) $1 d8R &1, ol |
(2) TF TE5eE], TR B 0OR &4, (R0 i, FaTE, R U

(3) FFETE, R W, sl 9, TR GO

(4) TR TR FL, FEEf g, AHETE, FR HE

1[Option ID=29769]
2[Option ID=29770]
3[Option ID=29771]
4[Option ID=29772]
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What is "Tungsten"?

(1) Kind of metal

(2) Kind of prepared clay mix
(3) Kind of wood

(4) Kind of machine

(1) g B TF TER

(2) TOR g By &1 16 TeR
(3) ®IE ®1 Uk UbY

(4) 72 #1 0% UER

1[Option ID=29773]

2[Option ID=29774]

3[Option ID=29775]
4[Option ID=29776]

Sl. No.52
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"Alabaster” is

(1) a glass-making process
(2) a kind of mineral

(3) akind of clay

(4) an igneous rock
e w8 2

(1) =7E s 31 0F Wi
(2) T UBR &1 G

(3) T UHR I GRiP

(4) T% g S

1[Option ID=29777]
2[Option ID=29778]

3[Option ID=29779]
4[Option ID=29780]
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Carnauba is a kind of
(1) organic wax

(2) artificial wax

(3) mineral

(4) stone

R FE T IR ?
(1) ofes 7w

(2) FEFHEH

(3) ==

(4) Y=




1[Option ID=29781]
2[Option ID=29782]
3[Option ID=29783]
4[Option ID=29784]
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Niello is a form of
(1) Wood buffing technique

(2) Patination process

(3) Metal surface decoration
(4) Glass making process
e e 9eR #1

(1) &8 EsTE dadis &

(2) S13/ GRa1 o 3 ufebar &
(3) ug-waE Aedfewm &

(4) =i 59 o1 wfpa &

1[Option ID=29785]
2[Option ID=29786]
3[Option ID=29787]
4[Option ID=29788]
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Gouges are the wood curving tools with
(1) no sharp cutting edges

(2) blunt cutting edges

(3) zigzag cutting edges

(4) curve cutting edges

M3 (e &8 &1 aford &3 arel U SUHul & o
(1) Pre-ard fbR ool T8l gid

(2) Brear [k YR Bl € |

(3) Pre-are [bR SRR a1 eg-AS Bla ¢ |

(4) Pre-ar fPTR TP BT |

1[Option ID=29793]
2[Option ID=29794]
3[Option ID=29795]
4[Option ID=29796]
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Epoxy resin is prepared from
(1) Dolomite

(2) Gypsum

(3) Polyether

(4) Ashwood extract

wareRf @ RfoE) P die g et 8 2

(1) SiAMEEe
2 oy
(3) YifeisuR

(4) URIGS P HNHI

1[Option ID=29797]
2[Option ID=29798]
3[Option ID=29799]
4[Option ID=29800]

Sl. No.57
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The cutting edge of the wood curving chisel is generally
(1) full bullnose

(2) beveled

(3) fillet

(4) half bullnose

®I & 9910 alie 4 SIed ATl S &1 Sle- g B FHE: T e @ -
(1) Tf g TR gaE)

(2) waftrd / sal

(3) I/ Faw

(4) ¥ gnEIRE 1ER ([ge)

1[Option ID=29801]

2[Option ID=29802]

3[Option ID=29803]
4[Option ID=29804]

Sl. No.58
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Lemonwood is also called as
(1) Pmne

(2) Degame

(3) Birch

(4) Koko

Sa-gE &I FefafEd «f s o 2 -
1) 91

(2) f&m

(3) o

(4) =@

1[Option ID=29805]

2[Option ID=29806]

3[Option ID=29807]
4[Option ID=29808]

Sl. No.59
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Which one of the following woods is hardest amongst the following?

(1) Balsa

(2) Cedar

(3) Lignum vitae
(4) Pine

T # 9 55 9 755 999 R el & -
(1) SIeEm

(2) 3@ER @Sy
(3) fomm dem

(4) s

1[Option ID=29809]
2[Option ID=29810]

3[Option ID=29811]
4[Option ID=29812]
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QBID:10015148435

Chasing is a technique generally used for
(1) metal sculpture

(2) wood sculpture

(3) ceramic sculpture

(4) stone sculpture

I i / gEieTe @ &t ae-ie smras: P d Em e g -
(1) =1g g




(2) =7y A
(3) Fafas =fiffie
(4) T HffRe

1[Option ID=29813]
2[Option ID=29814]
3[Option ID=29815]
4[Option ID=29816]

Sl. No.61
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What is palladium?

(1) yellow metal

(2) brown metal

(3) acid to use for patination
(4) white metal

fafsTm an & 7

(1) il urg

(@) g

(3) Ufemm @RE ) F1E wE S uiEan) # vged e
(4) ¥%E o1y

1[Option ID=29817]

2[Option ID=29818]

3[Option ID=29819]
4[Option ID=29820]

Sl. No.62
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Brass that contains more than 45 percent zinc is called

(1) Yellow brass
(2) White brass
(3) Black brass
(4) Red brass

45 vieEa ¥ o e o dao s s esa & 7
(1) dien g

(2) w%e diaq

(3) wren diaw

(4) = diaa
1[Option ID=29821]
2[Option ID=29822]

3[Option ID=29823]
4[Option ID=29824]

Sl. No.63
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Lanolin is a kind of
(1) Resin

(2) Fibers of wood
(3) Wax

(4) stone

THIRH PR A S Fes e wer 2 ?
(1) @ [@fom)

(2) =E-W

(3) 7MW

(4) T2

1[Option ID=29825]
2[Option ID=29826]

3[Option ID=29827]
4[Option ID=29828]

Sl. No.64
QBID:10015148439




The melting point of Beeswax is

(1) more than 140-degree Fahrenheit

(2) less than 140-degree Fahrenheit

(3) between 300-to-450-degree Fahrenheit
(4) between 100-to-110-degree Fahrenheit
Y T8 $1 TS FEEE feam g 2

(1) 140 3= HBA1EE § s

(2) 140 3= BHAEE 9 FH

(3) 300 ¥ 450 = H¥Ee & o

(4) 100 ¥ 110 3" B¥AEE & §4

1[Option ID=29829]
2[Option ID=29830]
3[Option ID=29831]
4[Option ID=29832]

Sl. No.65
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Mahogany wood is generally treated as
(1) softwood

(2) extremely lightweight

(3) hardwood

(4) extremely coarse grained

T i TFEl B ;T A wE § -
(1) A a®al

(2) 3T geh] adsl

(3) ®ER adSl

(4) 3T Giadl MER

1[Option ID=29837]

2[Option ID=29838]

3[Option ID=29839]
4[Option ID=29840]

Sl. No.66
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Given below are two statements :

one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Color of Beeswax ranges from yellow to almost black.

Reason R : As it is secreted by the worker bee, color of it basically depends on the age and diet of the bees.
In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct

(4) A is not correct but R is correct

#1931 FuF feU U & U SHfUFUT (Assertion A) F w9 § @0 § o gEU S9F R (Reason R) F FUH,
YA A ; HYHM BT F1 Nd & ST O S b & ofe # BT R |

TR R : 9% T% 4 Aynes 5 wifEd 2 € goe: oo O AyniEed # en sk s v m ik wm g
TRIEd S & 2o 4, i feu T feEed| § ¥ e Iuged SR $1 9 S

(1) AIRREFTEE MR, A T 96 T B

(2) A AR R EHET 9 E afsT R, A &1 98 e A8 &
(3) AT E AE R 8 T &

(4) AWETEIE dfEa R W6

1[Option ID=29841]
2[Option ID=29842]
3[Option ID=29843]
4[Option ID=29844]

Sl. No.67
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Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Damascening is an art of encrusting one metal on another metal for decoration.

Reason R: Damascening name has derived from the name of the city Dasmarinas and their regional techniques of th is craft.
In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R is correct

2 <1 Fy= fau L % UF aAfiEuT (Assertion A) & w9 # i@ § df g9 396 0 (Reason R) & w0 H,
HFYT A : ST UF o ¢ foww sieeu 8 UF g W GELl UTg &1 qust TS o © |

SR R : SAFIE0 9 &1 34T SHAIAN 919 $ e 3R 59 eg 31 3791 8419 ae-ie! W a7 |
IRiEd wUE & e H, i G Y Aeed ¥ 9 999 Suged 9w @1 994 S

(1) A IRR A E SRR, A ¥ 98 = B

(2) A RREHE T8 € AT R, A &1 Sl oremn T8 §
(3) ATEE AP R T AE 2

(4) AvETEg dfF R R

1[Option ID=29845]
2[Option ID=29846]
3[Option ID=29847]
4[Option ID=29848]

Sl. No.68
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Given below are two statements:

Statement - I : From the parent mineral Gypsum. the Plaster of Paris is manufactured.

Statement - IT : Gypsum is occasionally referred to as hydrated sulfate of lime, hydrated calcnun sulphate.
In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Both Statement - I and Statement - IT are correct

(2) Both Statement - I and Statement - IT are incorrect

(3) Statement - I is correct but Statement - II is incorrect

(4) Statement - I is mcorrect but Statement - IT is correct

e g1 sy few &

FYF | : TEX HIF UNE &1 796 G- T o 941 9l § |

w11 ; foremm &1 gwaw &3 +3ft 97 & T153eT Aoihe, TI58es Sivhad Seibe, & U H il o W 2 |

IWE FUE F s §, A9 i o Fedd § 9 w99 Suge oW #1959 s

(1) U] IR S FE 2
(2) FYF] SR <Hf 1o &
(3) wuF ] wEl B, A wy= 11 7o B
(4) TF ] TOEE eI e

1[Option ID=29849]
2[Option ID=29850]
3[Option ID=29851]
4[Option ID=29852]

Sl. No.69
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Given below are two statements:

Statement - I : Blistering is a defect which is frequently caused by the presence in the clay body or glaze of sulfur or carbon.
Statement - IT : Tt is completely unavoidable in ceramic glazing process if the firing is slow and long.

In the light of the above statements, choose the most appropriate answer from the options given below:
(1) Both Statement - I and Statement - II are correct

(2) Both Statement - I and Statement - IT are incorrect

(3) Statement - I is correct but Statement - IT is incorrect

(4) Statement - [ ig incorrect but Statement - II is correct

91 & F g g

@Y  : BHITH T8 &19 8 ol $5 IR Hg 1 9 9 o awqal # dye 71 $reA Bl SRl | o g |

HuA 11 : afe wareq Henfa 9 ok e 2 of o5 fRfas § oig faam 31 wfear & gofa: smfer 2

S FYE F e §, A1 B et § ¥ 999 suge oW w1 95 e

(1) SYFI R SHf T8 &
(2) By ] RII SFi ToE




(3) T WEI 2 A FYa I A &
(4) FF]TEA AfFT FE 1 98 2

1[Option ID=29853]
2[Option ID=29854]
3[Option ID=29855]
4[Option ID=29856]
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Given below are two statements:

Statement - I : Brass is an alloy of copper and zine famous for its hardness and workability.

Statement - IT : The malleability of brass depends on the zinc content. Brasses that contain more than 45 percent zine are not workable,
either hot or cold.

In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both Statement - I and Statement - IT are correct

(2) Both Statement - I and Statement - IT are imcorrect
(3) Statement - I is correct but Statement - II is mcorrect
(4) Statement - I is incorrect but Statement - IT is correct
H gy g g &

HY | ; g die oI e @t e Wy g 2 o et SR SR Yoeaal / aagiieal & g kg 2 |
BU 11 ; diqa #1 sirardawiar 3us si<t & foe W Bt s ¢ | for diaa & 45 uiawa @ e e gar & 9 a1 &1 e a1 & 32, fedt =0 & o /

TAEINE ol BId |
SWIE $YT & e 1, 19 fGu 7 e d 9 wad Iuged I S 99 Sl

(1) ] IR SH w8
(2) FYF] AR SHi Tea &
(3) FUF] WEl B AfFA FYA I e B
(4) ] A E AFTFE FEE

1[Option ID=29857]
2[Option ID=29858]
3[Option ID=29859]
4[Option ID=29860]
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Given below are two statements:

Statement - I : Silica is also called silicon dioxide, which is a compound of silicon and oxygen, Si02.
Statement - IT : Silica 1s used in grinding and polishing glass.

Silica sand is used in buildings and roads constructions in the form of cement.

In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both Statement - I and Statement - IT are correct

(2) Both Statement - I and Statement - IT are mcorrect
(3) Statement - I is correct but Statement - II is mcorrect
(4) Statement - I is incorrect but Statement - IT is correct

RIFEReme

Fy | : faftrer &1 fafeels 515 srsaes 0t @arwar & & fr fafeeta ot srfive &1 = aifte Si0, B |
aﬂmll;ﬁaﬁﬁmwﬁﬂaﬁ’aaﬁ%ﬁaﬁ?qﬁmaﬂﬁﬁﬁmm%|ﬁﬁ1ﬁﬁiﬂﬂ3ﬂﬁﬂmaﬁ?mﬁﬂhﬁ@ﬁ¥$wﬁﬁmm%|
SWIE FUE F e §, A9 B e § ¥ 999 suge oW w1 9 s

(1) U] IR S T8 2
(2) 9] SR I gHf Toa &
(G3) AR AFT T TE
(4) T[T T dfe U 11 TR 8

1[Option ID=29861]
2[Option ID=29862]
3[Option ID=29863]
4[Option ID=29864]
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Given below are two statements:

Statement - I : Artificially dried or heat-dried wood is weighty compared to kiln dried wood.

Statement - IT : The weight of the wood varies considerably with the moisture content.

In the light of the above statements, choose the most appropriate answer from the options given below :




(1) Both Statement - I and Statement - IT are correct

(2) Both Statement - I and Statement - IT are imcorrect
(3) Statement - I is correct but Statement - IT is incorrect
(4) Statement - I is ncorrect but Statement - IT is correct

e ST e R &

FYA ] ; HE H GETE TS Oeel 1 ga # Y 0 9 @ TE O1 T § g9 75 aes! Hile il gt #
FYF 11 : 79 B 931 F Y TFel $ HR H S0 gfadq gl & |

SIE FYA & e 4, A9 fGu T feeed F 9 99 Suged T &1 994 S

(1) FYE] AR SHf T8 2
(2) FUF1 SR & Tad &
(3) FF1TEE AP T a3
(4) FuF] 7o B, AT HUE 1] 9

1[Option ID=29865]
2[Option ID=29866]
3[Option ID=29867]
4[Option ID=29868]
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Given below are two statements:

Statement - [ : Electroplating invented at the beginning of 19th Century. By this, thin and uniform films of metal can be deposited on
other metal surface.

Statement - IT : But clectroplating has never been used i any of the sculpture till date at all.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both Statement - I and Statement - IT are correct

(2) Both Statement - I and Statement - IT are incorrect

(3) Statement - I i correct but Statement - II is incorrect

(4) Statement - [ is incorrect but Statement - IT is correct

R T FyE Rum &

HU | ; figga-aud &1 1R 1997 waredl & UReT & g | 59 g et a1g &) vaet ofR ue-wa wa e gud ug W 9ers o 96 8 |
T [1 ; e o a@ H ot +ft gfiiies w fagga-am w1 smgm Tl gen © |

FWIEd HYH & S H, A e T Fedi # 9 999 Suged 9 $1 997 S

(1) SFE] IR SR g
(2) T AR S Ta B
(3) SUF1 98 & o BuA 1T Tod &
(4) FY= 1704 3, dfh FUF 11 |8l &

1[Option ID=29869]
2[Option ID=29870]
3[Option ID=29871]
4[Option ID=29872]
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Given below are two statements:

Statement - I : Dhokra casting is a very old practice in India for the nonferrous metal.
Statement - IT : But people forgot that eraft. It is no longer practiced in contemporary days.
In the light of the above statements. choose the most appropriate answer from the options given below :
(1) Both Statement - I and Statement - IT are correct

(2) Both Statement - I and Statement - IT are incorrect

(3) Statement - [ is correct but Statement - II is incorrect

(4) Statement - [ is incorrect but Statement - IT is correct

RO FE Ry

HUA [ ; EIHT Aad [ Targ HRd § S uigsi & de F aga gl usfa g

A ST o og Re ym e | anyPE sm A T e A T S

IWIEd HYA & S H, A G T Fedl # ¥ we s Suged ST S 99 S

1) FEIARD S @R

(2) FFHT AR aH T &

(3) T W 3 AP FUA 11 Toa 7

(4) FFTEE AfFT FE 1 G982




1[Option ID=29873]
2[Option ID=29874]
3[Option ID=29875]
4[Option ID=29876]
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Given below are two statements:

Statement - I : Chisel handles should be made with good quality heavy hardwood. as they have to tackle with mallet blows.
Statement - IT : Chisel handles should be ergonomically designed for better grip of the sculptor.

In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both Statement - I and Statement - IT are correct

(2) Both Statement - I and Statement - II are incorrect

(3) Statement - I is correct but Statement - IT is incorrect

(4) Statement - I is mcorrect but Statement - IT is correct

1 & we fay g &
U B F1 0E B o=t e 9 U SR FER 8 T T o1 9ie wite 59 U gUst & et B e e |

FUA 11 : B F1 Jp FI 49eyT & RS0 9 Afisiad e 9 Tty aifs JieR & 95 Ues f&d Ui |
IWIed HYF & Hdie 41, A fqu e fdeed! # 9 999 Iugesd It &1 994 Bl

(1) S AR SHf 98 2

(2) Y] AR I EH Tad &

(3) I T AT U a2

(4) SR TTaE AT A I 98 8

1[Option ID=29881]

2[Option ID=29882]

3[Option ID=29883]
4[Option ID=29884]
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Match List - I with List - II :

List- I List - 1T
A [Bronze [ Rust
B [Clay I |Schist
C  [|Stone [II |Patina
D [lron IV [Fired

Choose the correct answer from the options given below :
(1) A-IIL B-IV, C-II, D-I
(2) A-III, B-I. C-IL, D-IV
(3) A-L B-II C-1V. D-III
(4) A-II B-IV, C-I, D-III

il 19 91y G 11 BT e Bifoiy

1 T 11
A T L HRA/ ST
B. giHAd] 1. A
C_ a9y 1. Ufe
D. T8 V. Saierd
< f4u 7Tu fdsedl H ¥ 981 3R &1 99+ BHIToTs:

(1) A-IL B-IV, C-II, D-I
(2) A-II, B-I. C-II, D-IV
(3) A-L B-IL C-1V. D-III
(4) A-IL B-1IV, C-1. D-IIT
1[Option ID=29885]
2[Option ID=29886]

3[Option ID=29887]
4[Option ID=29888]
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Match List - I with List - II :

List-1 List - IT
A |Gouge 1 Ceramic
B [Lifting Tongue II  [Wood
C  |Curing agent T [Metal
D |Grog IV  [Epoxy

Choose the correct answer from the options given below :
(1) A-II B-IV, C-IIL D-I
(2) A-II B-I, C-IV, D-III
(3) A-II, B-III, C-IV, D-I
(4) A-I, B-II, C-III, D-IV

il 1% 91y G 11 BT e Piforg

T 1 T I
A T3S/ ol INSHEES
B. 3TUH feHel / delid 1. &Y
C. RED ATHHdl 111 T
D. U] f{gt TV UGl
= fou U [deedl d ° 98] 3 &1 99 Pifei:

(1) A-II. B-IV, C-III, D-1
(2) A-IL. B-I. C-IV. D-III
(3) A-IL B-III. C-IV, D-I
(4) A-I, B-II, C-III, D-IV
1[Option ID=29889]
2[Option ID=29890]

3[Option ID=29891]
4[Option ID=29892]

Sl. No.78
QBID:10015148453

Match List - I with List - IT :

List-1 List - IT
1A [Diamond point chisel T Stone
B [Pyrometric cones 1 |Clay modelling
C  |Wood curving T Mallet
D |Butterflies [V [Ceramic

Choose the correct answer from the options given below :
(1) A-IV, B-IL. C-III, D-I
(2) A-I B-IV, C-IIL. D-II
(3) A-IV, B-I, C-II, D-III
(4) A-I. B-IIL C-II. D-IV

il 13 1Y Gl 11 BT R Bifore
T I Tt I
A ERPGE WA [ UeR

B. IMUAT YD [11. HiE] HidE 0 @RS
C. HIY-gHul 111, gI7E3 / gUiaT
D Taafeal v ®

i feu e fosedi o O el STR &1 99 Pifle:

(1) A-IV, B-II. C-III. D-I




(2) A-L. B-IV. C-III. D-II
(3) A-IV, B-I. C-II. D-III
(4) A-L B-III. C-II. D-IV
1[Option ID=29893]
2[Option ID=29894]

3[Option ID=29895]
4[Option ID=29896]

Sl. No.79
QBID:10015148454

Match List - I with List - II :

List - I List - IT
A [Aluminium Il 2340°F
B |Stainless steel Il 1945°F
C  |Inconel [T |1220°F
D |Gold IV [2550°F

Choose the correct answer from the options given below :
(1) A-IIL B-III, C-IV, D-I

(2) A-III, B-IV, C-1, D-II

(3) A-I B-IV, C-II, D-I

(4) A-IL, B-III, C-I, D-IV

il 1% 91y G 11 BT e Biforg

T =
A feafai-aa 1.2540°F
B. WAGH ®Id 11 1945°F
C.SIB T I 1220°F
D 30 V. 2550°F
i fau e fosed] & O el SR &1 99 $ifole:

1) A-II B-III, C-IV, D-I
(2) A-IIIL, B-TV, C-1. D-II
(3) A-L B-IV, C-II, D-I
(4) A-IL B-III, C-I, D-IV
1[Option ID=29897]
2[Option ID=29898]

3[Option ID=29899]
4[Option ID=29900]

Sl. No.80
QBID:10015148455

Match List - I with List - II :

List- I List - IT
A [Aplite [ Metal
B [Layer [I Metamorphic
C  [Bidri [I1 |Sandstone
D |Gneiss [V [[gneous

Choose the correct answer from the options given below :
(1) A-IV, B-III, C-I, D-II
(2) A-IV, B-L, C-III, D-II
(3) A-I, B-III. C-II, D-IV
(4) A-IL B-IV, C-I, D-III




=i 13 1Y G 11 BT eI iy

AT I T 1T
A UEge 14T
B. TRT / TR 11 BRI (HeHIb®)
C.digsl 111 S 31 TeR
D. 159 (Gneiss) IV, 3Ta
i fau U famedl & 9 98l IR &1 90 DIt

(1) A-IV, B-III, C-1, D-II
(2) A-IV, B-I. C-III. D-II
(3) A-L B-III C-II. D-IV
(4) A-IL B-1V, C-1. D-III
1[Option ID=29901]
2[Option ID=29902]

3[Option ID=29903]
4[Option ID=29904]

Sl. No.81
QBID:10015148456

Match List - I with List - II :

List-1 List - IT
1A |China clay 1 Volcanic
B |Saw I [Metal
C  |Granite 1T  [Ceramic
D |Sand casting IV [Wood

Choose the correct answer from the options given below :
(1) A-IL B-IV, C-I, D-II
(2) A-IV, B-L, C-III, D-II
(3) A-II, B-IV, C-I, D-IIT
(4) A-L B-IL C-IV. D-III

Y=l 19 1Y G 11 D1 BT Biforg
T 1 et 11
A, =T FET | SaEEE
B3R RCIG
C. JISC 11 RS
D. 9] Yo V. DY
=i o 71g faepedl 3 9 Hel SR &1 99 PIfre:

(1) A-IIL B-IV. C-1, D-II
(2) A-IV. B-1. C-II1. D-II
(3) A-IL. B-IV. C-1. D-III
(4) A-L B-II, C-IV, D-III
1[Option ID=29905]
2[Option ID=29906]

3[Option ID=29907]
4[Option ID=29908]

Sl. No.82
QBID:10015148457




Match List - I with List - II :

List - I List - IT
A |Glazing I Cire Purdue
B |[Bush hammer I |Glass fibre
C  |Investment mould III |Ceramic
D [Resin IV |[Stone

Choose the correct answer from the options given below :
(1) A-IL B-III, C-IV, D-I
(2) A-IIL B-IV, C-I, D-II
(3) A-IL, B-II, C-III, D-IV
(4) A-IV, B-II, C-I, D-III

il 19 91y G 11 BT e iy
Ht1 T 11
A ifId BT 1T I
B. §%1 e1R / gYlel 1. @id <=0
C. ol Fi=n 11 RRE®
D). JTe (A) V. TR
= fSu U f[deedl d ° 98] 3 &1 99 Piei:

(1) A-II, B-III., C-IV, D-I
(2) A-III, B-IV, C-1, D-IT
(3) A-L, B-II, C-III, D-IV
(4) A-IV, B-II. C-I. D-III
1[Option ID=29909]
2[Option ID=29910]

3[Option ID=29911]
4[Option ID=29912]

Sl. No.83
QBID:10015148458

Match List - I with List - IT :

List -1 List - IT
A [Labradorite 1 Non-Ferrous
B [Pewter I |Alloy
C  |Carbon steel III |[Ferrous
D |Copper IV |Feldspar

Choose the correct answer from the options given below :
(1) A-L B-II, C-IV, D-III
(2) A-IV, B-II, C-III, D-I
(3) A-IIL B-III, C-IV, D-I
(4) A-L B-IV, C-III., D-II

il 13 1Y Gl 11 BT R Bifore
el 1 I I
NGEIERES 1. 3dle
B. TR 11, Y o1
C. ®la- 38Td 111 ilg
DAGIE] V. oot
i 34U ¢ fasedl § ¥ 961 IR &1 90 SIfee:

(1) A-L B-IL C-IV, D-III
(2) A-IV, B-IL, C-III, D-1
(3) A-IL B-III. C-IV, D-I




(4) A-1 B-IV. C-III. D-II

1[Option ID=29913]
2[Option ID=29914]
3[Option ID=29915]
4[Option ID=29916]

Sl. No.84
QBID:10015148459

Match List - I with List - IT :

List-1 List - IT
1A |Aszemblage [ Modelling
B |Ainico [ |Soapstone
C  [Wax [T |[Scrap metal
D |Curving [V |Alloy

Choose the correct answer from the options given below :
(1) A-II B-I, C-IV, D-IIT
(2) A-IL B-IV, C-I, D-II
(3) A-IL B-L C-IL D-IV
(4) A-L B-II, C-IIL, D-IV

=i 13 1Y G 11 DT T Hiforg

T I Tt I
A TH=T  HIGR T W& (FISle)
B. HISHD] 11 Teds! (AI9E)
C. O 111 31=5F Ui
D. Gl Tv. 18 &Tg
i fau U famedl & 9 98l IR &1 90 DIt

1) A-II B-1, C-IV, D-IIT
(2) A-IIIL, B-TV, C-1. D-II
(3) A-III B-I. C-II, D-IV
(4) A-IL B-II, C-III, D-IV
1[Option ID=29917]
2[Option ID=29918]

3[Option ID=29919]
4[Option ID=29920]

Sl. No.85
QBID:10015148460

Match List - I with List - II :

List-1 List - II
A [Riser I Clay modelling
B |Duralumin I PMetal
C  |Gold T [Lost wax
D |Armature vV |Alloy

Choose the correct answer from the options given below :
(1) A-IL, B-III, C-I, D-IV
(2) A-IIL, B-IV, C-II, D-I
(3) A-I, B-1V, C-III, D-IT
(4) A-IV, B-II. C-III, D-I




=i 13 1Y G 11 BT eI iy

Tl 1 e 11
A TRE /WoR 1L HE®1 Hiaeaul (g J1sic)

B. S 1. &7

C. %0 1. I A
D. 3R I ﬁrs[gﬂ-gf
2 faw e fawedl § 9 9 o @1 97 P

(1) A-II, B-III, C-I, D-IV
(2) A-IIIL, B-TV, C-II, D-I
(3) A-L B-IV, C-I1I1. D-II
(4) A-IV, B-II, C-III, D-I
1[Option ID=29925]
2[Option ID=29926]

3[Option ID=29927]
4[Option ID=29928]

Sl. No.86
QBID:10015148461

Given below are two statements:

Statement - I : Basalt is a hard igneous stone used by the Egyptians as a sculptural material for making portraits.
Statement - IT : Basalt is really harder than granite and transparent.

In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both Statement - I and Statement - IT are correct

(2) Both Statement - I and Statement - IT are mcorrect

(3) Statement - I is correct but Statement - II is mcorrect

(4) Statement - I is incorrect but Statement - IT is correct

i 2w fey Ty g

FYF [ : TWIeT U6 H6R AT TeR ¢ fawe 3ugn fig & ar wfaa 59 & fon gfofefo sl S Su s O
HY [1 ; S9Tee aad H 315 § Hiie $oR AR IReH g1 § |

S FYE F e §, A1 B T e § 9 999 Suge oW #1959 e

(1) U] IR S T8 2
(2) =91 SR I gHf Toa &
(3) FYF] AR gHf Ta &
(4) T[T T dfe s 11 TR 8

1[Option ID=29929]
2[Option ID=29930]
3[Option ID=29931]
4[Option ID=29932]

Sl. No.87
QBID:10015148462

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Brass can be turned blue as a result of a specific patination process.

Reason R: Application of Sodium thiosulphate, Lead acetate and water are the key reason to make the brass surface blue.
In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both Statement - I and Statement - IT are correct

(2) Both Statement - I and Statement - II are incorrect

(3) Statement - I is correct but Statement - 1T is mcorrect

(4) Statement - I is incorrect but Statement - IT is correct

Fr &1 Ty BT U & UF SATiEUT (Assertion A) % ¥9 # 80 § @ §H0 996 #10 (Reason R) F ¥UH,
ey A ; diga &1 7 o 5Em ifemm @ ae @) sfear S S feomaesar & |

HRU R : Hifsan yere, 95 thiee SR o9 $1 3uan 9iaa @1 9ds 9 A1 51 &1 0 $Ru g |
IWiEd HUH & e H, i B T Beel # ¥ 999 Suged ST &1 99 S

(1) A JRR EH 981 & SRR, A F 961 == B

(2) A JRR ¥ € A R, A &1 98 omrem 78 2

(3) ATEE AFARTA TR

(@) Avdi i AT R w8l 8




1[Option ID=29933]
2[Option ID=29934]
3[Option ID=29935]
4[Option ID=29936]

Sl. No.88
QBID:10015148463

Given below are two statements:

Statement - I : "Waste mould” is made only to take one cast out. After the casting, the mould is of no use as its elf being chipped away
and destroyed.

Statement - IT : But waste moulding process is not useful n sculpture making.

In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R is correct

FRasEARime

FUF [ ; AU I Fo0 U TO9F (@) e F U a9 9 & | S99 / o0+ 915 9% I R Suhe #7196t W | 59 Sawt gal
e o € iR 7 = e e #

FYA 11 ; i smft o= =t v affftes i § suaeh 55 2

T S & ATare 8, Hie feu T feeed| ¥ ¥ ey Suged I #1904 S

(1) ] R g w2
(2) FYF] AR SHf a2
(3) THIGE S AT FUT I TOa R
(4) ST A B, AfFT FUE I WL R

1[Option ID=29937]
2[Option ID=29938]
3[Option ID=29939]
4[Option ID=29940]

Sl. No.89
QBID:10015148464

Given below are two statements:

Statement - I : As marble is almost wholly composed of pure Sulfur carbonate.it is quite sensitive to chemical reactions.

Statement - IT : Metamorphic rock like marble never has been very easy to curve due to its hardness. On the contrary Granite is easier to
curve.

In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both Statement - I and Statement - IT are correct

(2) Both Statement - I and Statement - IT are incorrect

(3) Statement - [ is correct but Statement - IT 1s incorrect

(4) Statement - I is incorrect but Statement - I is correct

FRaFEARime

FYA | ; Ifth TTHTER TN T Y NS 9ot BEHC 9 41 51 &, 98 e sfufaned © o sfstesia g g

T [1 ;: FEANG 99 oY SR I, S9! SoRal & R, 8fbd S 41 W §gd A9 T8 oral | 59 [T JAee $1 afbd S H¥E s
TR E |

IWiE HUH & e §, A e T el 7 9 999 Suge ST S 994 ST

(1) ] R i w2
(2) FF] AR 4 7@ &
(3) T 98 & AT FUT 11 T &
(4) FUF ] A § AT s 11 WEl &

1[Option ID=29941]
2[Option ID=29942]
3[Option ID=29943]
4[Option ID=29944]

Sl. No.90
QBID:10015148465

Given below are two statements:

Statement - I : Sculptures made of Stones are the most durable in outdoor, compared to the wooden sculpture.
Statement - IT : Metal sculptures has never been placed in outdoor considering its porous material nature.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both Statement - I and Statement - IT are correct
(2) Both Statement - I and Statement - IT are mcorrect




(3) Statement - I is correct but Statement - I is incorrect
(4) Statement - I is mecorrect but Statement - IT is correct

i & By Ry g &

T | BTF Gfifed @ gaer # teR & a4 g aed e # e Tes Ea g

wuA 11 ; fmior verd &1 iy vl & $ro uig & gfiften S e o asd arameo § 8 @ o g
IIRIT Y & Sl 8, H U e Awedt § S e Suged ST &1 99 S

(1) T AR SHf |8 2
(2) A1 AR &H Toa &
(3) w1 OEl 2 AfFA HuA 11 oE B
(4) TF ] TOEE eI e

1[Option ID=29945]
2[Option ID=29946]
3[Option ID=29947]
4[Option ID=29948]

Sl. No.91
QBID:10015148466

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: All outdoor big size wooden sculptures need to be protected with water sealant in regular intervals.

Reason R:. Because wood is porous in nature and it responds to the change in the humidity of its surrounding environment.
In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R is correct

Fr S Fy= faU 8 & UF AfiSYT (Assertion A) & ¥U # 8T § d g0 396 S0 (Reason R) & U,

HEYE A e Ty | W@ Tt 98 HeR F ST giined o Mot s o oa-gRi gewf & 39 3 ST S B ouwaed sl B
BRU R ; i Al A0+ UHia & 4 3 R U5 907 IRl AR & gaiawn # Sl smal § uiad= & ufa d@deaia g |

SRE YA & A A, A 4y e G § ¥ 99 Suged ST &1 994 S

(1) A IR R AT § AR R, A ¥ 98 = B

(2) ARREA 96§ W@ R, A %1 961 o 76l ©
(3) ATEE AP R T AF &

(4) ASEI T8I 8 A R Wl B

1[Option ID=29949]
2[Option ID=29950]
3[Option ID=29951]
4[Option ID=29952]

Sl. No.92
QBID:10015148467

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Vertical strokes. mason's stroke and carving stroke are the acute angular strokes. used for traditional stone sculpture
making.

Reason R: All these lead to get progressively a smooth detailed surface of the stone sculpture.

In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R is correct

:ﬁaaa’;mmw%@W%W(A%ﬂﬁonA)aimﬁﬁﬁaﬁgfﬁwmm(Reas_:onRj&i'ﬁqﬁ:

HiSUE A - T GRS a9 1 IR uinar § Syl omard, B omard o Sl ofhTd W By o S AThTal S WER g § |
SR R : 57 989 99107 AfiReT = fEa Sag oiiR e gl ot £ |

IEd BUF © S 1 O T T Aee § 9 999 Suged 9w @1 907 S

(1) ASRREFATHEIRR, A F o e &

(2) A SRR EHE T8 € AT R, A &1 8l orem T8
(3) ATEIE AT R vl 7 &

(4) AvETEg dfF R R

1[Option ID=29953]




2[Option ID=29954]
3[Option ID=29955]
4[Option ID=29956]

Sl. No.93
QBID:10015148468

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Sculptors have been using "Toothed Chisel' for last 2500 years.

Reason R: Toothed Chisel can be used to create the extra fine details in any stone sculpture.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R is correct

ﬁaa’;mmw%WWWW(ASSﬂﬁOHA)%Wﬁ%I@H%?ﬁWWW(Reas_:onR)ai'ﬁqﬁ,
HfirFYE A - After ar fied 2500 99 € ShieR 31 ST FA R/ E |

SR R ; fpedt oo gfiffireg & o g sk 99 $ fu cier S s wwm e S s £

TIRIT U & S H, i G0 T GEedl ¥ 9 9 SUge S &1 99 SIag

(1) ASRREATHEIRR, A F o e &

(2) A SRR EHE T8 E AT R, A &1 Sl oremn T8 §
(3) ATEE AP R T AE &

(4) AvETEg dfFT R R

1[Option ID=29957]
2[Option ID=29958]
3[Option ID=29959]
4[Option ID=29960]

Sl. No.94
QBID:10015148469

Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R

Assertion A: Hacksaw is a fine-toothed general-purpose metal cutting tool.
Reason R: There is no hacksaw available for wood cutting at all.

In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Both A and R are correct and R 1s the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R is correct

ﬁaa’smﬁqw%q_‘f#%W(ASSﬂTionA)aiﬁqﬁﬁT@ﬁgfﬁmmm(Rear-_:onR)ai'{?qﬁ:
HiBYA A 2T IR SR & U UTg Sled &1 US 11 959 GigR SUH & |

HRU R : THSI Fed $ Y F15 ool Aapa 1 390 T8 ¢ |

TEEd FE & e 8, e fan o el § § 9es Suged ST #1 90 S

(1) A IR R S 981 & iR R. A 91 981 e B

(2) A JRREEwEE fFT R, A F1 9 e A

(3) ATEIE afsT R i 7 @

(4) ATH e AR TR

1[Option ID=29961]
2[Option ID=29962]
3[Option ID=29963]
4[Option ID=29964]

Sl. No.95
QBID:10015148470

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Chopped strand matt has been made up of short strands of fibers that is randomly oriented. And it is only compatible with
polyester and vinyl ester resin.

Reason R: Because the other resing do not have polymer content in them.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct




(4) A is not correct but R is correct

Fr < Fy= fau 8 & uF aAfisuT (Assertion A) & w9 # ff@T § 1 90 396 U (Reason R) & ¥ H,
HFYA A ; S@iid oy AT gefesE w0 9 HEfaig Wi F B ag-TS! 9 a9 81 ¢ | IR g% Haa uiinkes R e e v Qi F

g B |
SR R ; Fifs 37 T@l () § sgoe @iftmy @ a8 gl
THIEd BYA & A H, 19 6T 7Y fawedi # ¥ W9 Suged St B 90 S

(1) A 3R R S 981 ¢ SR R, A ¥ 951 = B

(2) A AR R EHE ¥ & dfea R, A &1 981 e 761 &
(3) ATHR G R sma®

(4 AU dfFRTTR

1[Option ID=29969]
2[Option ID=29970]
3[Option ID=29971]
4[Option ID=29972]

Sl. No.96
QBID:10015148471

Given below are two statements: one is labelled as Assertion A and the other ig labelled as Reason R
Assertion A: Assemblage is a kind of art made by assembling everyday object or disparate elements together.
Reason R: But this art had no history before the year 2011.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct
(4) A is not correct but R is correct

ﬁaa’;mmw%WWWW(ASSﬂﬁOHA)%Wﬁ%I@H%EhWWW(Reas_:onR)ai'ﬁqﬁ,
HFYT A : TS [ GAER (FEE) SHfeT awgel ok R ol 1 UE 9y ogafiud F # TS TER B el g |
HROTR : AT 39 B 12011 & U698 1 15 hoers 78 8 |

TIE BYA & A H, A9 3T T fawedl § @ wed Suged I %1 99 S

(1) A SRR EHf 98§ SRR, A # 98 @ B

(2) A IRR A E AfFT R, A & 98 omen T R

(3) ATEE AFARTH TE R

(4) ATE T 2 ABAR T B

1[Option ID=29973]
2[Option ID=29974]
3[Option ID=29975]
4[Option ID=29976]

Sl. No.97
QBID:10015148472

Given below are two statements:

Statement - [ : Isophthalic resin is better corrosion resistance, unsaturated polyester resin, with great tensile strength.
Statement - IT : Making sculpture m Glass fiber has been found from Egyptian period onwards, i the history of Art.
(1) Both Statement - I and Statement - II are correct

(2) Both Statement - I and Statement - IT are incorrect

(3) Statement - I is correct but Statement - IT is incorrect

(4) Statement - I is mcorrect but Statement - IT is correct

9 & A Ry &

wY [ ; g T () SgaR deRur afeRidt SR erigw gt v @ R sifie 7= amed g ©
FYA 1] ; 1 % Sioerd B B9 T & 10 9 51 $19 5 ¥ 9 giiked s S e e W E |

IWRIEd FYF & A 1, A f3u 0 Eedl § 9 999 Iuged IR &1 994 Bl

(1) ] FRI SH w8 8
(2) FYF] SR & Tad &
(3) T TE B AP FUA I e B
(4) FH] A e AFTFE I T E

1[Option ID=29977]
2[Option ID=29978]
3[Option ID=29979]
4[Option ID=29980]




Sl. No.98
QBID:10015148473

Given below are two statements:

Statement - I : Fiberglass is basically the fibrous form of glass. which primarily used as a reinforcing agent in plastic.
Statement - IT : Because of its porous property it has never been used extensively in sculpture making.
In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Both Statement - I and Statement - IT are correct

(2) Both Statement - I and Statement - IT are incorrect

(3) Statement - I i correct but Statement - II is incorrect

(4) Statement - [ is incorrect but Statement - IT is correct
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Sl. No.99
QBID:10015148474

Given below are two statements:

Statement - I : Plaster of Paris is used industrially in foundries as a negative mould material for the accurate casting of nonferrous
metalg.

Statement - II : Plaster of Par is has always been used till date only for sculpture. It has been mvented for that only.

In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both Statement - I and Statement - II are correct

(2) Both Statement - I and Statement - IT are incorrect

(3) Statement - [ is correct but Statement - IT 1s incorrect

(4) Statement - I is incorrect but Statement - I is correct
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Sl. No.100
QBID:10015148475

Given below are two statements:
Statement - i: Dental plaster is sweet in taste as it is used inside the mouth to take impression of gum or teeth.
Statement - ii: An Italian plaster known as "Tesso Duro” is famous for its long duration plasticity. because of that, can be modelled into

direct form making.

In the light of the above statements. choose the most appropriate answer from the options given below :
(1) Both Statement - I and Statement - IT are correct

(2) Both Statement - I and Statement - II are incorrect

(3) Statement - I is correct but Statement - 1T is incorrect

(4) Statement - I is mcorrect but Statement - IT is correct
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